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▪ 𝒟 = 𝑙=1ڂ
𝐿 𝒟𝑙

▪ ෡𝜽+ 𝒟info ⊆ 𝒟

▪ 𝑓 ȁ𝓘(⋅) 𝜽 𝛿𝐩,𝛿𝐪
𝜽

▪ 𝐪 𝐩
→ 𝐪

𝒟new

𝒟info ← 𝒟info  ∪ 𝒟new

෠𝜽− ← ෠𝜽+

𝒟info ⊂ {𝒟1,…,𝒟new−1

෡𝜽−

෠𝜽+ = Calibrate(𝒟info,𝒟new; ෠𝜽−)

𝑓 ห𝓘(𝒟info,𝒟new) ෠𝜽+ − 𝑓 ห𝓘(𝒟info) ෠𝜽+ > 𝜆

𝒟info ← 𝒟info  ∪ 𝒟new

𝒟info ⊂ {𝒟1,…,𝒟new−1

𝜽𝟎

෠𝜽+ = Calibrate(𝒟info,𝒟new; ෠𝜽−)

𝑓 ห𝓘(𝒟info,𝒟new)
𝜽𝟎 − 𝑓 ห𝓘(𝒟info)

𝜽𝟎 > 𝜆

෡𝜽+ = Calibrate(𝒟info;𝜽𝟎)

▪

▪

𝓘 =𝐉𝑇𝐉

𝐩 𝐪 𝐼
𝑔

𝐪

𝐩ref 100,100,0 ± 25.0,25.0,6.3  mm 𝐪ref 𝐼
𝑔

𝐪ref (𝐞,0∘) ± (𝐞,9.5∘ ) ∀ 𝐞 ∈ ℝ𝟑 \ {𝟎}

▪ 𝐩
▪ 𝐪

▪ 𝐼
𝑔

𝐪

𝛿𝐩,𝛿𝐪
𝐩𝐪
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